Missing Subtrahends

Name: Score:

Find the missing subtrahends

12.75 - B = 695 2488 - B = 20.98

04 - B = 0.05 22 - B = 1.99 04 - B = 0.39
15.82 - B = 992 32 - B = 1.44 2.12 - B = 0.82
8.44 - C} = 094 11.11 - C} = 4.3l 19.99 - C} = 18.89
0.7 - B = 0.38 33 - B = 1.25 91 - B = 0.55
2.54 - D = 0.84 40.04 - D = 36.44 277 - C} = 0.97
09 - B = 0.65 49 - B = 191 36 - B = 0.99
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Answers

Find the missing subtrahends

12.75 58 | = 695 24.88 3.9 | =2098

o
~
1

0.35| = 0.05 22 - 021 = 199

15.82 - = 992 32 - = 1.44 2.12 - = 0.82
8.44 - = 094 11.11 - = 4.3l 19.99 - = 18.89
0.7 - = 0.38 33 - = 1.25 91 - = 0.55
2.54 - = 0.84 40.04 - = 36.44 277 - = 0.97
09 - = 0.65 49 - = 1091 3.6 - 2.61 = 099
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